1.

Forest Beat Officer and Assistant Beat Officer

Initial key

PARTA

Which Renaissance scientist explained

how planets move around the Sun ?

Kepler
HUDHUDisa . _____ that occurred in
AP in 2014.
Cyclone

Which of the following Indian States is not

bisected by the Tropic of Cancer ?

Odisha

Which Article has given a special status to

Jammu and Kashmir ?

Article 370
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5.

6.

With reference to Thimmamma Marrimanu,
which of the following statements is/are

correct ? 5.

a. Thimmamma Marrimanu is a huge
banyan tree located in Kadiri of
Ananthapur district, 70 km away
from Horsley Hills of Andhra Pradesh.

b. This tree holds a Guinness record (in
1989) of being the largest tree in the
world.

C. This tree’s branches extend up to 5
acres and is apparently 550 years
old.

Select the correct answer using the code
given below :

a,b,andc

Which of the following is/are the likely
impact of nitrogen pollution ?

a. Loss of biodiversity
b. Pollution of rivers and seas
c. Ozone depletion

Select the correct answer using the code
given below:

a,b,andc 6.

Arrange the following States of India in
ascending order of their forest-area and
select the correct answer from the code
given below:

a. Andhra Pradesh
b. Tamil Nadu
c. Odisha
d. Karnataka

Codes:

a,/b,d,c

B2 T ST NS Dog’os®
S5 g3t %S 1DEOIOS B5° oS
$55%8° 185 $°050 ?
2. 3% 50507 550 8T 8%00 95~ o
3057 5% 557 N0 es05” 8 9T 5857
50 eoF 5005 5T %0 et o
% 70 8.55°.0 855007, e9308%350
2’0 00 S 885°8° BF s~odoo™t
IOlnb)
b, BT 500500 ST es® 9SS s S
S0 Lok~ &1 3760 e KoST T
87555 %555 (198907F) % Sodo
I T00%08°.
C. 857805 600 A0 05 %7 905 oK™
550 %0385 550~ &o&®
5505 o3 B EK™
5 anss~eo™ 3% 8500 s
Goeo™an’.
E08 5T 5% DD TS SO0 B8, TS $S°S°
K55 $°050°:
a, b 5:8°a05 C 98° e9a0°53°
& 555%08° o3S B S0 Sedud
SPENA (D20 OO
A 25 5750 ans’s 335 wo Senso
b, S50 S°AN D587 e
E0R" aho 2™E%S HEso
e BaTT 975 8 Wieosso
£08 73T %8 DD TS SO0 B8 TS $S°S°
K055 $°050°:
a, b 28°a0s C 58° e9a°53°
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7.

10.

1.

AHS ANYS T O ¢ TBwEy @
IAGo sTSorT eFrn (5005 @)
S DIPTT), Hh80d0dk.
a. 0575 9T os7s
b. BB I ™
c. 2,88
d. 55 eess
S-Sl

a,b,d, c

According to ISFR 2017, which State has
shown highest increase in water bodies
within forest area ?

Maharashtra

What does EPA stand for ?

Environmental Protection Agency

To label environment-friendly consumer
products, the Government introduced

Eco mark

Which number replaces the question mark
?

(6)

10.

1.

2185 2BAH @D JIOE (ROAST WE e
JBFE - ISFR) 2017 |H5°C0 @& IS’
Q3 SISO e5HE DRNDSOE IR TS
OO0 O ?
05 R et 8
%28.9.2. (EPA) 93 B8 H0D0H0DIE ?
AT %578 080" BT 8T TET BT

DessT®
M loaeNTelx) SINVSVIS) DA
CTINEMOIN 080V E8 D20eh 5. . .
DBNON0 TIS NS A& 2
357 5T s

%) HB A0 TS0 HONFTDH Do
v8oho& ?
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12.

13.

14.

Which number replaces the question mark

S.l. unit of energy is

Joule

What is a change of position ?

(7)

15.

16.

12.

13.

14.

Motion

The shortest path between the initial and
final position is known as

Displacement

Grass appears green because

It reflects green colour

%) 0D de TS HBNFTDH Do
8oBodk ?

38 FOT 9.9 (D320
z et

TS0 B3NEY 33780 )0 AP DOTNIE I 2
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Se$0 b. . 1931
15.  [PONE BAW A Fred LS e eoed
S8 ST, DeID0ETEd ?
o 3T So%0 c. . 1921
16. 5 €830 DB EQDNOE ONEOT
35955 <5 S0y 9F 588°2°02°0SE0
d. IV. 1906

17. The first successful human spaceflight
was
Vostok 1
18. Match List | with List Il and select the

correct answer using the codes given
below thelists :

Listi Listli
(National Flag) (Adoptedin
Year)
e AT,

|~ 3t

19. Who described C. Rajagopalachari as the
‘keeper of my conscience’ ?

Mahatma Gandhi

17. DS IHNOEY 33 Hored 0S58E, I8
O ?
ST o8
18. =™2°3™ 1 SO N 98 ®SISIE0

& 575 55 5%00° gt %8 STe’e™ 08°
O DS S ST & K8F 8200,

B N | 22 S I
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(55 3°55°05°s
D058 $950)
a. 1947
b. 1931
C. . 1921
d IV. 1906
DI :
a b c d

v 1 ] [ [

|
. TBFIroTrdd ‘D @odoredy DO
SEECE @D D5 @& 2

SoT—SE 5 Ko’

19.

20. The hills marked 1, 2, 3 and 4 are

(9)

1 2 3 4

Mikir Garo JaintiaKhasi

21. A dormantvolcano

Is capable of erupting

22. Examine the following statements and
select the correct statements by using

code given below :

a. The Himalayan Mountain is a new fold
mountain formed by the collision of
two tectonic plates.

b. Outof Satpura and Vindhya Range,
Satpurarange is higher in length and
is the source of rivers like Narmada
and Tapti.

c. Vishakhapatnam and Bhubaneshwar
are important cities located in
Eastern Ghats.

d. The Aravalli Range is the youngest
range of India.

Codes:

a,b,c

1,2,3 DO 4 ™ HO0NDES D s&en
DD ?

20.
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1 2 3 4

%85 KT 8 oS ™
P’
3°055 5ea0 =8 ekt %98 S0 eoes™
30T 5 08 9585 &5 ano g0%K°
G
AND VOV D8RO0 5T 5%
QILABS  WIX) OB I8 ®ond
NP, h8odod
A, TPmeah HEF 58 8 570 870
e85 007 P%8F 9 0 o 5T Be
ESmon™ D85 98°%S 5 5sF &
D55 58 5F 57°

21.

22,

b. %% ap, 9S8 D 957 5
3T 5 e000 ™, 98T 05 D57 58
35576 97N T8 o5 abs
SET 0™, BHB° 0B IO TN’
c. 81870 55000 %8 mpnest So
S08°0H3 23S 357 S0 AH 7
SRS
d. 885 500 es8558° BT SH™e)
€988° 3355 & SAH Kes®.
DD IO
a,b,c

23. Which city will be the headquarters of the

new railway zone for Andhra Pradesh ?

Vishakhapatnam

24. In which village of Andhra Pradesh lies
300 years old well, an architectural marvel

built by the ‘Gandi brothers ?

Chandrasekharapuram

(10)
25.

26.

27.

23.

24.

What is the rank of India as per ‘Renewable
Energy Country Index’ 2018 ?

4th

For weather science study, which of the
following is used to fill balloons ?

Helium

In which of the following villages, the river
Godavari is joined with river Manjira and
river Haridra ?

Kandakurthi

306" 8 %7 5578 070 Ir8S 8 " ST
2T 8 BT 58S 55085 5500 58T S
SKS0 D&° 2

S pRest So
Ko® PRATeRIS) 5= 98T A ST gHdoR™
3255 30°08%S 300 onTsFE S
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25.

26.

27.

28.

BWETSDH TS 7S eogts BT esTE
50 eoF 500 N KT 5o ™ S0y ?

1:3063?6%_5@6 280

“SE0 oSBT 9SS FETS® D>
(575 amodeno® 5T Soeot &
306757 0%) 2018 Soky  FTESE o
AN TETE TS0 B ?

483

$S™HEE B NOD 98T OPAHNCRS
EXAO TR 0S™ K~0° &Koo $Pon™
SO0 N ?

oo’ abo

S8 8T D Koo S8
KP558° 565° $002°8 HEcapy T28°sE S
58508 BernF ¢r08° ?

EosEst &°

In a remarkable achievement, India gets its

37" World UNESCO World Heritage Site.
Whichisit?

Victorian and Art Deco Ensembles of
Mumbai

(11)

29. In which of the following national parks
has the Supreme Court banned all mining
activities ?

Kaziranga National Park
Directions for question no. 30 to 32 : Rearrange
the letters given in the following questions so
as to form a meaningful word and choose the

first letter of the so formed word as your
answer from the options given below.

30. LARIOT (An artisan)

31. MHOTACS (A part of human body)

32. NEROGA (A fruit)

28. S35 57085 ST RS SE8S oo oS
S5SN8 5t 5%
955 %0 BT ITO%0S abasTREsT
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DFEH0S SERsTS T wo  esT

327830, 7S K8 8%0% $TT0s NS,

500027 SKS00 ™ 57T 05 ahsT S5 Ay
885 e0F S8 o) B0 e’

29. 503 S0 3°3 5 R OV
&S5 AO™IS5S00 ™ wonT %o 55T e
st S 85Te Ko SeEsEerare
STRTE°05°08° ?

Se°50K™ e™S ah &6T SIS0
R 585 S DopT ab 30 $30&° 32 S8
08T K755 & %0 1 &K
S5 555 5007 g3F 5% ©5F A0 ¥
5% 5508378 $0 33T S0 $°5°K°
95087 5, VBT NS 95T BS5080 7S
2650 AHTET E DT e85 BEST &
55 5°08 gt 378 DTS 8208
%5% $°050e°.
30. LARIOT (2.5 578 5)8° &° &$5%3082050)
T

31. MHOTACS (553 $5°5007%5° 2.5 85~K0)

S

32. NEROGA (2.5 %05/ Ho0)
o

(12)

33.

34.

35.

36.

37.

Which country has banned use of drones

and unmanned aircrafts ?

Sri Lanka

How many States have joined the pan-
India Emergency Helpline No. 112 ?

20

‘Nikshay Poshan Yojana' is associated with
which disease ?

Tuberculosis

India invited which group of countries at
the recent oath-taking ceremony of PM
Narendra Modi ?

BIMSTEC
Which gas is mixed with LPG to detect
smell ?

Ethyl Mercaptan
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33.

34.

35.

36.

37.

SIS0 3% SER00™ D %00
I SETOS oS~ $8°aH

ST T 0 5maEST S 25T 085y 2
5 SPoos

PEBTE N0 QUID  DODVAS

@IS B, SToadt M2 DI

DIABFTAT D), TN TTOW ?
20
PETRONT 9TRET oS ™ darsO8
QOVOOVIE ?
55 30w
DS Do 3 IBold IS (HSrea
DFTIE oSS BI0 @ 0DS TFO
QANTON0 DO ?
22°%0° BT 075"
555%008° oS 08 HBoEE
I5.2.8. & EOD ANY IO ?
Sa 70" 2787 5N st

(13)

38.

39.

40.

41.

42.

Fill in the blanks :

Gunpowder, also known as black powder is
made of Sulphur (S), Charcoal (C), and

Potassium nitrate

Which mirror is used in the headlight of a
car?

Concave Mirror

Which gas is used in cigarette lighters ?

Butane

Fill in the blanks :

The ABO blood types were discovered by
________ in 1901, for which he received
the Nobel Prize in Medicine in 1930.

Karl Landsteiner

Which among the following is actually not a
tree?

Banana Tree
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DO FFOOH0G :

of 0755 3TEST es® ErET 9%0°ST
KSE DTEET (8598 0083) Koo (S),
5558 2K K3 (©) 208°aHs
AHTETE %5 svo.

3TemRan0 8, e 57T

38.

39. 50 TBEN) GOZTNOT S)0 DO ?
226075 587 Hevo
40. S5OX°KETT © TeasT 0o SRad K oS
SIS NES° 2
2F anIres ST
41, 9O FBoB0R :

1901 H058% vS0e™ D, 2% 2 55 &
BE08 EKTST SoSBRTS $3. 76T o
=0T 8% 500 SBS 75 7x" (1930)
90535855 50T 8% 5578 ¢

555 0F o~oit 0 e’

42, & ONHS BDHITES’ TERTIE VO ?
e9580° e e

(14)

43. Consider the following statements with
respect to ‘Creation of States’:

a. On October 1, 1953, the Andhra State
was created. The State comprised
the Telugu-speaking districts of
Madras State.

b. In 1956, as a part of the States
Reorganization Act, the States in
India were arranged on linguistic

basis. This resulted in the creation of
new States. Andhra Pradesh was
created by merging Andhra State
with the Telugu speaking area of the
Hyderabad State.

c. Bombay State was splitinto the
linguistic States of Gujarat and
Maharashtra on 1 May 1960 by the
Bombay Reorganisation Act.

Which of the above statements are correct
?

Alla,bandc

44. Consider the following statements with

respect to ‘India during the British Rule’:

a. India during the British Raj was made
up of two types of territories: British
India and the Native States (or
Princely States).

b. Provinces were controlled by the
local kings and the princely states
were directly under the rule of the

British Government.

Which of the above statements is/are
incorrect

Only b
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43, OHSIBO IS VEROLS’ “T° (el T°HEN” &0
D0220H0D H8oNS @07 H80d0dH

a. 1953 00365)50, e85 eo s 1.3
308" 8 ™R 657 So Q5T v
I P0H23es 5%, 8T 505 53 eof Soo™S?
S0 edf 0E 1% oo™ K0’
&8 535 o B0 DET B0 S aneS s’
b. &R e 570 %387 5 ansnT 5
365 ev0 DT 5550 1956 ©°
BB B0 N 5N Lof oS R
e3¢5 S0K™ DET 9L STAnE0 8K 0’
&e 38° A 57 578 8 3R e e
NS 9L $8° %%, 0T
525 0% S0, T 2552 sT 07 S0k
et 0GB Sros 8 $0°%° es0it
DT85 K DET e $TavEo
25°K°0°.
c.  @ow™ 2387 5T st P58 et wo
ST 8580 1960 Hoss™ 980 2= 18
2 02 ”AD SR Lo 58T S Kosss et
0E°A TSR 0TS s
5RE 0aF oK™ S5t osio B8R0l
B8 ITHTE°S BT 5580 95° 08 78S ?
a, b, c 937 % 98° ewan’ss®

o 0SS B Tese™  gmE8E 80"
RQOOE DOVOHONS JBONS O
EBHIBONS V08 SEOm
8o0B

a. o 8% 578 98T rese ™

585 FST % o 5% gos’an
HS°AH 5SS 5RE Lo 5o
(35 5°5T 05 0 155 0o 07) o5 570

SRR ™ DET D96 SToneE S’

44,

(15)

w & &

b, 2 5%5% gos’ab™ 5 Lo 5o
95§88 e, ™RSS
538 0o o8 2 5%0%%E

ST 8285 S0 D870 0TS’
S 9TETETST S 9T 5508007 NE° $56°
A0 W DTSRI

b 5585 5557 95° ean’Ss°

“

0d

-
o

45. Consider the following statements with
respect to ‘Lord Ripon’:

a. Lord Ripon supported the Vernacular
Press Act passed by Lord Lytton, in
order to provide freedom to the
newspapers published in vernacular
languages.

b. The first factory Act was passed by
Lord Ripon. The Act also made
provision of one-hour break during
the working period and four monthly

holidays for the employment.

Which of the above statements is/are
incorrect ?

Only a

46. Consider the following statements with
respect to ‘Purna Swaraj’:

a. On December 19, 1929, under the
Presidentship of J. L. Nehru, the INC,
atits Lahore session, declared
“Purna Swaraj” as its ultimate goal.

b. The “Declaration of Independence”
pledge was drafted by Mahatma

Gandhi in 1930.

Bhagat Singh was the first person
who gave the call of “Purna Swaraj".

C.

d. Congress leader and famous poet
Hasrat Mohani was the first activist
to demand complete independence

(Purna Swaraj) from the British in
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1921 from an All-India Congress
Forum.

Which of above statements is/are
incorrect ?

None of the above

45. 5105 870 9% 9 e 70wt vt
“Om5% 55 5797955 5 Bo208°05°S $E%ead’s
0¥ 08 K8 $o0s0s’ ?

A, O 5SS PR 558°058E%S
&80T 57505 BF 575 38 337 S5
25035 ©5F &F ©%eoF ont IS
D ™88 D8 8%5™ Seot Lo S’
(3785 555 amres® 9T 578 an—sT eo)
5" %5 5797 957 D08T o™,
b, 7e° $Tan™E 08 av™ET e
05" 55 5799 37 STe5 e DE’Ss.
&35 ADTHO% BI° IO Danoe™ ¥
K0ed $°57:5 D0AH™ST $° S°AHy ST
SO0 500 DTX0% S St oo™t
DN ™AN0 F0° B0 NS,

9,78 978TETST S 9T 55800 DE° $56° ean

FONCEIARLRINOY
a 508 5307 098° e9ah’SeS°
46. OHIBO ISV BOLS “505y°8
JF 557 ano” 0 QoD0HONS O8NS
@030 H80BoS ?
a. 55 asrst oot 5T 5

3% Q05T RSS 0™ 80 19 $°%oasT,
192907 5255 350525 555 2 an
oK 5705 0™ H00™ Hourst 0

OF $58™esF ab D985 908D

(16)

&5 35 apor™ 95 55e°08™8s.

b, RN 5~S08" 57 an % 558" 97 58°s" g3
1930 $0358° HS00™® HT ST B~ K=o’
SALT™EY ST,
c.  D0%rst e 0 35™s ab $TESE
3°032055°55 3% HTE8° 5T st & 7
2KST B°oK".
d. 1921 30587 H800™ wp’e 0SS
5~oRT 5705 5765°8 8 35~ o 5%’
38 $r08° H5o5T &°
I 5S08% 55 AT (Donrst &
D 552" ano) TS S5’
555 apssT &, §oKT 5TRT SabEE
$505° a0 9F ST o~ 53° 5° &° T 58T
S
9,78 978TETST S 97 s5eos00™ D° 98° eand’s
PONCRA RN

575558 5%

47. Who among the following is popularly
called as “The Frontier Gandhi” ?

Abdul Ghaffar Khan

Moderates and
session in

48. Congress split into

Extremists in

Surat, 1907

49. Who was the first person to get Param Vir
Chakra ?

Maj. Somnath Sharma
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50.

51.

47.

48.

49.

Which State became the First Indian State
to pass the law that all Government
Employees should take care of their
parents ?

Assam

Consider the following statements with
respect to ‘Kyasanur Forest Disease’:

a. It is also known as Monkey Fever.

b. Kyasanur forests are located in
Karnataka.

Which of the above statements is/are
correct?

Codes:

Bothaandb

&HN BOIS T8S "HBTY Tod” @
(DS50POMT DORDRS 5585 2

e920F Soof K;)CSF gp‘%“ég

9 3Oy EANy B IEIOIN™
E~oK" 5705 o PON RN ToTO R
_________ D058 vEoe™
5°5° 5 a0 s®

J5eT, 1907

DB DG INEENICIATN IS WA T 358 DK ?
37285 DTS 555 D

(17)

50. (D206 &E5HOOSETHD YHOrTedO)
B0O DB (3D SroTOd DO TS
R0E3 23 B30 TR0 I 2

93 ™o

AHSIBOIS  1DELIOS SIS B
BR257 50 H0220H0DS HBIONS OTOL
80%0&% 2
A Be 3T an™E%S® 2008 90555 es® sra
%0305 88>
b. 5T ab™RSrST edsies 555 e3eos
5=aF eof Soo™ &5t san®

51.

BN ST RS BT S%ses D05 98 785
()

POV A AN TO I

A 505°ans b 58° evan’ss®

52. Which city is going to become India’s first
Zero Discharge City ?

Noida

53. Read the following statements:

a. Phayeng village has been tagged as
India’s first carbon-positive
settlement.

b. Phayeng village is in Imphal East
district surrounded by three densely
forested hillocks with fruit trees at
the centre and a stream flowing
through it.
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Which of the above statementsis / are
incorrect
Only b

54. A process of deposition of calcium and
other minerals on the surface of the
cartilage is called

Ossification

55. In learning process any response is

strengthened through

Reward

52. 2r8e B30 D0de3 B8 &7 )0 e3 20
SHEB0 A& ?

S ans

53. 5°005° %5 5560508 35655087
a.  pavoKT KT S0 FESS T
7Ge° 555 st — 90%0°%T
¥ "0t K
%F 55 0swE’0s”
b.  Han™on’ K 5o gopTet &rst %
2°0% 0™ 07, 55 Soeat Loy
50" €00 78 9855000357 8 E o e

(18)

93T ST 08 8%058%55°,
ST Ao 28 Soah Tew
DSBS 0’
9,78 97T ETST S 97 55000 DE° 867
A0 W DTS S™

b 5o—st 53~

54. 090erR GOSN D SN0 HOASD
QB8 DIZ OJTEN DIDOL 22D
D0EFR

e8RS
B5. (0378 50557 3FssFsfane™  57%°

3OS DO, 7S DoET NS 33T So.

2I30¢8°

56. How the slope of demand curve exists ?

Convex

57. Same quantity supplied at more price
refers to

Decrease in supply
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58. A programme for providing 100 days
guaranteed wages to rural folk for their

work is

NREGA

59. Real object taken out from their natural

setting is

Specimen

60. The gap between what is and what ought

tobeis known as

Need

61. The process of keeping a careful watch on
which
constitute the main components of the

specific events or activities,

programme is called

Monitoring

56. Q08 S0 DHEN 7N DT HOCRD

B0 8800

57. @00 O3 908 INBIN/HOIPI0 D

QBHT> TANEID DDOETS

JEHE™ SKT Ko

(19)

59.

60.

61.

62.

63.

D TEHEIN @ 50° KT S e (He3Ed 100
DA OIVDOE IS0 STy T
QI SDRBIA.

A3 .es5% g.28%..

DEB DHOB BNIT DB/ TR
ISV

SIS
OO AW @ der GoEd NAS &)
357563030 eD0EFR

©SHES0
551830630 & 20T (283585089, HDOSENS

2 AT HOTIEFQ DeD0EFED.

NOR A RToxsT ol

Geo TV channel is a news channel of

Pakistan
The right to freedom of speech and

expression is derived from the
Constitution of Indiain

Article 19(1)(a)
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64. Coreincomputers means

Processor
65. As per Sustainable Development Goals
(SDG) India Index-Baseline Report-2018,
for the construction of SDG India Index,
NITI Aayog left out which one of the
following SDG ?

Sustainable consumption and
production

66. The Central Pollution Control Board

(CPCB) was constituted in September,
1974 under

The Water (Prevention and Control of
Pollution) Act, 1974

58F S "e).

“ . & 1S
HERET &S

(20)

63.

64.

65.

66.

855 et aH™oK SeaF es0
080" o $S%E°,
25555 s $’55e% _— 5208

5T %555 80 9205 @ro0&°.
357 %505 19(1)(D)

go%F anresst o 5755 eoey™ ...
SR mRsT

DS 92" HET F°OTEEN (90T eo”an’sT &
EP%0TRT "0 K T) SDG, K0GOS
0TE) B BS 8YQ 2018 (Hs°E0 SDG
R0QAS® QOWE) ST TAMELE ded
20030 % 1808 3 BAJ BN 0.

TSR E0K e $55 ¢8°,
&e5% 8T &8°

AR0VX 19745 DOOS FOFEAS
E0('S S (2.D1.D) T 8o&
DT YENTZONDR0E ?
30e0° (35 8% 9T wor®
500" 85005 es9F 30 abrnst)
55 63 - 1974
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67.

68.

69.

70.

Which of the following is not one of the
goals of ‘National Mission for Green India’ ?

To improve the quality of forest coveron 2
million hectares of non-forest lands

‘Eco Club’ programme is one of the major
components of which of the following
Central sector schemes, launched by the
Ministry of Environment, Forest and
Climate Change ?

Environment Education, Awareness and
Training scheme

In the Union Budget 2016-17, tax on coal
was renamed as

Clean Environment Cess

Which of the following is the Sustainable
Development Goal-1?

No Poverty

(21)

67.

68.

69.

70.

&3 808 73S’ DA BAIS DAS HE
NS 20805 8 ©& 50 5.
2 55°0°aHsF © 98T ap~eRT Fah’s®
e98e3° oH™) 55 BF 508t o™
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71.

72.

73.

74.

75.

Smart Cities Mission is a holistic city
rejuvenation programme for

100 cities in India

Which of the following was launched on 2"
October, 2014 to make the country clean ?

Swachh Bharat Mission

Goods and Services Tax is a

Destination based tax

In the Union Budget 2018 - 19, the Central
Government proposed to launch which one
of the following programmes ?

‘Operation Greens’

PART-B

In which district of Andhra Pradesh, is the

proposed port at Dugarajapatnam located
?

SPSR Nellore

(22)

71.

72.

73.

74.

75.

DT 80T UG DAS IO BTIE
QOIY dKS sPaHvEe) (0 ?
EEBE F00 S M00 SKETH
&S S° $r20% oK™
ST ETONTE @528
2,2014 5 DO P00 HDR0E ?

OF 33F Ie55eT 0%8sF
KoeE 05, 985 5°%0F 00msF0F woes™
K50F Of e385°5%8 DT &

S0 23S 2018-19, &8 808 &
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3087 89F 85755 07°3° 9 2% oo™
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76.

77.

78.

79.

80.

Which of the following is not a fossil fuel ?

Wood

Among the following fuels, the one with
the highest calorific value is

Natural gas

The intense heat of Sunis due to

fusion reactions

Which of the following is a non-renewable
energy resource ?

Coal

A moderator is used in nuclear reactors in
order to

slow down the speed of neutrons

(23)

76.

77.

78.

79.

80.

Bs S%035 $T0F %S S8 o
05350 55 8 ?
B0
55035 &0 9°3 SomISIve ™
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81.

82.

83.

84.

85.

Which of the following statements is not
correct about ‘Mangal Turbine’ ?

Flow of wind is the source of energy for
turbine.

Which of the following is not the property
of a good fuel ?

Low calorific value

The main component of natural gas is

Methane

Aerobic respiration process requires
Oxygen
The gaseous exchange in humans takes

placein

Alveoli

(24)

81.

82,

83.

84.

85.

5205 870 %8 BF 2w 7o o™
“200K0° €87 23, 737 5 Bowod oS’ B8
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86. The saliva helps in the digestion of 86
Starch
87. Inphotosynthesis, light energy
87.
is converted into chemical energy.
88. Respiration in grasshopper takes place
through
88.
Trachea
89. The food of Protozoans is digested by
Enzymes in food vacuoles 89.
90. The tube that connects the pharynx with
the stomach s the
Esophagus
90.
91. Theliver stores food in the form of
Glycogen
91.

S5%05 3”0 9% $™e’e™ 9%° %5 ;o
SN OO R0
ENAD T KNE808° 2
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92. Which of the following is/are not correctly
matched ?

a. Cuscuta - Parasitic
b. Fungi - Saprophytic
c. Green plant - Heterotrophic

d. Mistletoe - Autotrophic

Codes:
candd
93. Average age of red blood cells is
approximately
120 days
94. The excretory unit of kidney is
Nephron
95. Water and minerals are conducted upward
in roots and stems through the
Xylem
96. The author of the book ‘The Origin of

Species’ is

Charles Darwin

(26)

92. %05 ST 9% 5™ DN° DS K asds
S abaEe S ?
A 5975 aboed — D5ST 8e’s
b.  #F0°05% 8o — ¥3r8° 05T S
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93. SAHI
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97.

98.

99.

100.

101.

A flower is brightly coloured, scented and
secretes nectar. It is most probably
pollinated by

Insects

Transfer of pollen grains through wind is
known as

Anemophily

Genes controlling the body characteristics
are found in

Sperms and eggs

In grafting, the rooted plant is called
stock. The stem cutting from the donor
plantis known as

Scion

By self-pollination, the seeds formed are

weak

(27)

102. The most malleable metalis

Gold

97. 2.8 03FS) 200838 B0k D5TR%S
SO0 HES0E™ST S E0°K° &0’ 5558
e TETE S8 98K Honst so
25°%%05° 2
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9050 305°a 3255 anseso
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102.

103.

104.

105.

106.

107.

JEFHISK™ 9K Komo Ko o ro NE° 2

20880

The purest formof ironis

Wroughtiron

Vinegar is a dilute solution of

Acetic acid

Which of the following is not correct about
ecosystem ?

Itis a closed system with boundaries.

Which of the following groups of gases
contribute to the ‘Greenhouse effect’ ?

Carbon dioxide and methane

Which of the following is not correctly
matched ?

Secondary pollutant - sulphur dioxide

(28)

103.

104.

105.

106.
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107. 505 670 2°%8 I—e’e™® DS° 08K

23HDSSVEO TS ?

&5 5285 5o ab §~5%0 —

IS —_ic\ég

D0 955 &, es8

108. ‘Chipko’ movement was basically against

Deforestation

109. Match the following using suitable codes :

(i P?ant) [( Botfnical Name)
a. Fennel I. Mimosapudica
b. Ginger Il. Foeniculum vulgare
c. Garlic IIl. Zingiber officinale
d. Touch me not IV. Allium sativum
Codes:
a b c d
mn m v [

110. The drug Rauwolfia, is obtained from
of Sarpgandha.

Root

(29)

111. The non-biotic pollutant of underground
wateris

Arsenic

108. 555°8° 35 0’5 80K™ 5955 &&F ano

=SS TST $ee°5e° 2

096035° 5°55 Sores
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Nifet

M. 50058) BeroS 0B 8 00RO 52
SPENNS SBE0 OO ?

e35F 9=%8F

112. Which of the following is biodegradable
pollutant ?

Natural Rubber

113. Which of the following is not correctly

matched (as per used plant part) ?

Turmeric - leaf

114. Match the following using suitable codes :

A B
(Medicinal (Uses)
Plant)

a. Sarpgandha I. diuretic,

refrigerant

b. Isabgol Il. nervous disorder

c. Arjuna Ill. chronic
constipation

d. Sandal IV. heart remedy

Codes:

(30)

115.

112.

113.

114.

a b c d
in m v |
“Biological Oxygen Demand” is an

indication of pollution in

Aquatic environment

A% BOIS e3S” IO Bsd FOOS NS
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DD I ;
a b c d
n m v |

115, "85 Do0PDS @8BS Alrod”

SPENATER), AT OE ?

230 HEF PS80

116. Which of the following is not related to air

pollution ?

Eutrophication

117. Which of the following is not a biotic

component of an ecosystem ?

Air

118. Which of the following methods is used to

determine the age of the Earth ?

Uranium-lead dating

119. Two trains 140 m and 160 m long run at the
and 40 km/hr

speed of 60 km/hr

respectively in opposite directions on

(31)

&

parallel tracks. The time (in seconds)
which they take to cross each otheris

10-8

116. ONS BODYS >3 O eNarsE
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119.

120.

121.

DITFOBB0T &J) BN IO 140 .
HOAD 160 . sy EOAS Tochy T
Hoed% 60 8. B 408.e SHo
S5RBE OIS DASFBNTYON. 25T
TS 3 I9LH I 00 (REIS)
00eh ?

10-8

There are two examination rooms A and B.
If 10 students are sent from A to B, then
the number of students in each room is the
same. If 20 candidates are sent from B to
A, then the number of students in A is
double the number of students in B. The
number of studentsinroomAis

100

The mean of 5 observations is 7. Later on,
it was found that two observations, 4 and
8, were wrongly taken instead of 5 and 9.
What is the correct mean ?

7-4

(32)

122.

123.

120.

121.

A is 25% more than B. What percent is B
lessthan A ?

20%

If the mean of 10, 15, x, 20 and 30 is 20,
what will be the value of x ?

25

2 B3 D) @ Bock JBZ Heven Erd)).
10 0O ATEDHOD EE & ok & 8
DODSVB BOK KOS &) dorsdeo
QoS 28T, 20 OB DO S D
0B O & HODIWB KOS &) s>
Hows D BOS &) Jorshe Hows S0
B30, o KOS’ &) DO Hows Joch

?

100
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122, 2 50T o) 25% D502, o) SO &) 5O O6h
$503%5 2

20%

123. 10, 15, x, 20 SO 30 @Dé& JTHE 20
90N X DN DOESH ?

25

124. Find the value of the following equation:

(3+3><3/3—3]3
3

125. If

D+A=60
A+A+A=120
D+C=35
c=2

15

(33)

126. If '+’ means ‘*’, =" means ‘x’, '+’ means ‘+’
and‘x"means ‘-"then 36 x8+4 +6+2-3=
?

43

127. What will be the next number ?

99,83,26,14, _____
6
124. O  DWEB0  BNE) NS
EQFS0E.

(3+3x3/33j3
3

125. D+A =60
A+A+A=120

D + C =35 eap’s™
C=?

15
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126.

127.

128.

129.

g (6) 1+r n-o' s (6) et n-o' lél é) W P
B X' D = 9HTHo®
36x8+4+6+2-30308) VNI OS2

43
99, 83, 26, 14, _____ ST DOYS
00e5 ?
6
In an examination, the average of marks

was found to be 60. For deducting marks
for computational errors, the marks of
100 candidates had to be changed from 90
to 70 each and so the average of marks
came down to 50. The total number of
candidates, who appeared in the

examination, was
200

Instead of dividing Rs.180 among A, B, C
in the ratio of % : % : é respectively, it was

divided in the ratio 3: 4 : 6 by mistake. Who
gained in this transaction ?

(34)

129. A, B, C © D&§ &». 180 ©N %

Only C

130. If log4g Xx - log4o(2x - 1) = 1, the value of x

will be

10
19

128. 2,8 HOES ITsHOZ SDIS Hrfen

30200 60 HO0VIDAI. NS
K823 DO B0 100 HOE
ASDOR 2,58508 5003 90
NOG 70 SN0ISORV D)0, NS
Qe JnBo 50 & SASFoN0H.
®DIR  INBo  HEEH  IFEBS
255800 HOPS DO 2

200
i1
4°6

DANDS”  DBOVIOD  &OBT,
P EIENS 3:4:6 DSBS’
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DROBBO 2BA0H. & TS
o308 3250 HV YO ?

C¥ ™8 5%~
130. logqg X - 10g4g(2x - 1) = 190H°8 ™ x 3%

10
19

131. The H.C.F. of the expressions a2 - 12a + 35

and a2 - 8a + 7 by factorization is

(a-7)

132. 1f 8% =2, then 2%* will be

133. If 2X - 2%~ 1=z 4, then x*is equal to

27

(35)

134. If x - 2 is a factor of x2 - 7x + 2a, the value

of ‘a’ will be

D). V.. a2-12a + 35 DOO a2-
8a+7 OOV, (5. 5BN

131.

(a-7)

132. 8%=2 OO, 25% Jods ?

133. 2%-2%"124 ©OONB, x* VoSS DIPS0

27
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134. x2 - 7x + 2a O30E) TED VB x - 2 P&~

135.

136.

137.

a’ DN

The value of cot?A +1 is

cosec? A

Ifsin0= % and 0 is less than 90°, the value

oftan 0 + will be

Cos

0| W

The length of the shadow of a vertical
tower is /3 times its height. Find the
angle of elevation of the Sun.

30°

(36)

138.

135.

136.

137.

Height of a building is 10 metres and there
is a point ‘P’ on the ground and a helicopter
is flying over the top of the building.
Angles of elevation of the top of the
building and the helicopter from point P
are respectively 30° and 60°. What is the
height of the helicopter from the ground ?

30m

cot2 A +1 DD

cosec? A

sin 0 = % OB 0 90° E°) 5802
L 9dend

@9033@5, tano +
cos 0

3
2

28 AenRd FHB0 A, o ey

GVE BED d) dFopS.  SrEEDd
DOIAS %90 DOch :

30°



OBF/444

138.

139.

140.

141.

28 3D D 10 DD, JDNES
D O POV HOB. & I3
DS 28 TTOTNE AHHS 0. 2y
OO0 DO B8 30° D
0T, OO 600 Dy
F0S D G0N, IO N oD
2OTR0 N0eh DS &GOS ?

30m

If the diagonals of a quadrilateral bisect
one another at right angles, then the
quadrilateralis a

Rhombus

At 4 o’clock the hands of a clock make an
obtuse angle and a reflex angle. The size of
reflex angle in degrees will be

240°
Perpendiculars drawn from the vertices of
a triangle to the opposite sides are

concurrent and the point of the
concurrency is called

Orthocentre

(37)

142.

139.

The locus of the centres of all circles of
given radius r, in the same plane, passing
through a fixed pointis

A circle

3Tren 50V 2.8¢3
DOROHTOD,

0230
oo oS
€969 ) I B)230 :
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141.
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142. B FDEBS Q) SOOESTT® NS

SED oD o ‘b, e
oS,  dPowosaddd oo
0D IPSB

2.8 Soaho

143. In a parallelogram ABCD, / A = (4x - 5)° and
Z C=(3x+10)°. Find £ B.

125°

144. A cone and a cylinder are of the same
height. The radii of the bases are in the
ratio of 2 : 1. The ratio of their volumes is

145. If the radius of a sphere is doubled, how
much will its surface areaincrease ?

300%

146. The surface area of a cube is 216 cm2. The
volume of this cube will be

(38)

216 cm?

147. The curved surface areas of two spheres
are in the ratio 1 : 4. The ratio of their
volumes will be

143. ABCD ©3 3 (TS S, 2 A = (4x -
5)° 08O Z € = (3x + 10)°. £ B &°
E08H 08

125°

144. 2.8 §S, 088 SIS Dty EOR
") 0. ¢3S FIRPTO B AN 2
11, °E3 SPEPERD D)

4:3

145. 2.5 B sr@o BoHosen T,
TR N0 | DTIO DO
RO :

300%
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146. 2,8 §°525 B0EY DB |NTI0 216 2
R0.902 €568 T°Q DOATEISM :
216 .93 149. What is the cumulative frequency of the

147. BO oo JE &IOheren 1:4
QAIBS’ G ow. ¢S HOSFETe
Qcﬁo}@:

Directions : (Question Number 148 - 150) Refer
the figure given below and answer the following

questions :
251
20 1
T 15
&
g
S 10
£
3
5.
0
10 20 30 40 50 60
Class interval ——
148. How many class-intervals have equal

frequency ?

class-interval 40 - 50 ?

80

What is the sum of the frequencies of the
class intervals 40 - 50 and 50 - 60 ?

150.

15

52085 397 S 2 70T o8 $I7%° (148 -
150) 5% 557 505 VD80S S0’

25

201

=
Ot

=
()

D0 —

10 20 30 40 50 60

TR-30oLdS —

148. D) 5 o~ VOB LOOHN DI
DTSe58% avo GO& ?
2
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149. 40-50 5% o~ QOB SOOZD)
Q0N D°V3 YO DO ?

80

150. 55 0~%% QOLDIO 40 - 50, 50 - 60 ©
D2 S BNB0 O 2

15



